AF <= 0.5
samples = 34
value = (13, 8,13)
class = Phenotype 1

Stroke <= 0.5
samples = 2
value = (1,1,0) value = (1,1, 0]
class = Phenotype 1 class = Phenotype 1

samples = 2
value = (1,1, 0]
class = Phenotype 1




Figure S2. Decision tree for phenotype assignment.
Samples and value indicate the number of data points and phenotypes at each node. Since all features are categorical data, “<=0.5” indicates the absence of features.

Abbreviation: AF: Atrial Fibrillation, CAD: Coronary artery disease, CH: Concentric hypertrophy, CKD: Chronic kidney disease, COPD: Chronic obstructive
pulmonary disease, PAD: Peripheral artery disease



